

(ψ, ϕ, θ) -weak contraction of continuous and discontinuous functions

Shantanu Bhaumik

*Department of Mathematics,
Dr. C. V. Raman University, Bilaspur (C.G.) INDIA.*

Surendra Kumar Tiwari

*Department of Mathematics,
Dr. C. V. Raman University, Bilaspur (C.G.) India.*

Abstract

We prove weak contraction theorem using three control functions in which one is continuous and other two are discontinuous.

AMS subject classification: 47H09, 47H10, 49J25.

Keywords: Weak contraction, Control function, Fixed point.

1. Introduction

some definitions and results are as follows:

Definition 1.1. A mapping $T : X \rightarrow X$, where (X, d) is a metric space is said to be weakly contractive if $x, y \in X$

$$d(Tx, Ty) \leq d(x, y) - \phi(d(x, y))$$

where $\phi : [0, \infty) \rightarrow [0, \infty)$ is a continuous and nondecreasing function such that $\phi(t) = 0$ if and only if $t = 0$.

Theorem 1.2. Let (X, d) be a complete metric space, T a weakly contractive mapping then T has a unique fixed point p in X .

Definition 1.3. (Altering distance function) A function $\psi : [0, \infty) \rightarrow [0, \infty)$ is said to be altering distance function if the following properties are satisfied

- (i) ϕ is monotone nondecreasing and continuous
- (ii) $\phi(t) = 0$ if and only if $t = 0$.

Let by Θ we denote the set of all functions $\alpha : [0, \infty) \rightarrow [0, \infty)$ such that
 (i $_{\alpha}$) α is bounded on any bounded interval in $[0, \infty)$
 (ii $_{\alpha}$) α is continuous at 0 and $\alpha(0) = 0$.

Definition 1.4. Let (X, d) be a metric space, T a self mapping of X , we shall call T a generalised weak contractive mapping if for all $x, y \in X$

$$\psi(d(Tx, Ty)) \leq \psi(m(x, y)) - \phi(\max[d(x, y), d(y, Ty)]) \quad (1)$$

where

$$m(x, y) = \max\{d(x, y), d(x, Tx), d(y, Ty), \frac{1}{2}[d(x, Ty) + d(y, Tx)]\}$$

ψ is an altering distance function and $\phi : [0, \infty) \rightarrow [0, \infty)$ is a continuous function with $\phi(t) = 0$.

A general weak contraction is more general than that satisfying

$$d(Tx, Ty) \leq km(x, y) \quad (2)$$

for some $0 < k < 1$, and is included in those mapping which satisfies

$$d(Tx, Ty) \leq m(x, y) \quad (3)$$

to verify that (1) is stronger than (2) using (2)

$$d(Tx, Ty) \leq m(x, y) - (1 - k)m(x, y)$$

which is the special case of (1) with ψ the identity function and ϕ defined by $\phi(t) = (1 - k)t$ and (3) is derived from (1) by taking ψ the identity function and $\phi(t) = 0$.

Theorem 1.5. Let (X, d) be a complete metric space, T a generalised weakly contractive self-mapping of X . Then T has a unique fixed point.

2. Main Results

Theorem 2.1. Let (X, d) be a complete metric space and $T : X \rightarrow X$ be a self mapping satisfies

$$\psi(d(Tx, Ty)) \leq \phi(\max[d(x, Tx), d(y, Ty)]) - \theta(\max[d(x, Tx), d(y, Ty)]) \quad (4)$$

where ψ is an altering distance function and $\phi, \theta \in \Theta$ and for all $x, y \in X$,

$$\psi(x) \leq \phi(y) \iff x \leq y \quad (5)$$

for any sequence $\{x_n\}$ in $[0, \infty)$ with $\{x_n\} \rightarrow t > 0$

$$\psi(t) - \overline{\lim}\phi(x_n) + \underline{\lim}\theta(x_n) > 0 \tag{6}$$

Then T has a unique fixed point.

Proof. Let $x_0 \in X$, we define a sequence $\{x_n\}$ in X such that $x_{n+1} = Tx_n$ for all $n \geq 0$. If there exists a positive integer N such that $x_N = x_{N+1}$, then x_N is a fixed point of T, hence we shall assume that $x_n \neq x_{n+1}$ for all $n \geq 0$. Now substituting $x = x_{n+1}$ and $y = x_n$ in (4) we obtain

$$\begin{aligned} \psi(d(x_{n+1}, x_{n+2})) &\leq \phi(\max[d(x_{n+1}, x_{n+2}), d(x_n, x_{n+1})]) \\ &\quad - \theta(\max[d(x_{n+1}, x_{n+2}), d(x_n, x_{n+1})]) \end{aligned} \tag{7}$$

Suppose $d(x_n, x_{n+1}) \leq d(x_{n+1}, x_{n+2})$ for some positive integer $n \geq 0$ then

$$\psi(d(x_{n+1}, x_{n+2})) \leq \phi(d(x_{n+1}, x_{n+2})) - \theta(d(x_{n+1}, x_{n+2}))$$

from (5) it follows that $\theta(d(x_{n+1}, x_{n+2})) \leq 0$, which implies that $d(x_{n+1}, x_{n+2}) = 0$, contradicting our assumption that $x_n \neq x_{n+1}$ for each n . Therefore $d(x_{n+1}, x_{n+2}) < d(x_n, x_{n+1})$ for all $n \geq 0$ and $\{d(x_n, x_{n+1})\}$ is a monotone decreasing sequence of non-negative real number. Let $R_n = d(x_n, x_{n+1})$. Hence there exists an $r \geq 0$ such that

$$\lim_{n \rightarrow \infty} R_n = \lim_{n \rightarrow \infty} d(x_n, x_{n+1}) = r \tag{8}$$

in view of the above fact, from (7) we have for all $n \geq 0$,

$$\psi(d(x_{n+1}, x_{n+2})) \leq \phi(d(x_n, x_{n+1})) - \theta(d(x_n, x_{n+1})) \tag{9}$$

i.e.

$$\psi(d(Ty, x_{n+2})) \leq \phi(d(y, Ty)) - \theta(d(y, Ty)) \tag{10}$$

Taking limit supremum on both sides of (9) using (8) and the continuity property of ψ and (i_α) property of ϕ, θ we obtain

$$\psi(r) \leq \overline{\lim}\phi(R_n) + \overline{\lim}(-\theta(R_n))$$

since $\overline{\lim}(-\theta(R_n)) = -\underline{\lim}\theta(R_n)$, it follows that

$$\psi(r) \leq \overline{\lim}\phi(R_n) - \underline{\lim}\theta(R_n)$$

That is

$$\psi(r) - \overline{\lim}\phi(R_n) + \underline{\lim}\theta(R_n) \leq 0$$

Which by (6) is a contraction unless $r = 0$, therefore

$$d(x_n, x_{n+1}) \rightarrow 0 \text{ as } n \rightarrow \infty \tag{11}$$

Next we show that $\{x_n\}$ is a cauchy sequence. Suppose that $\{x_n\}$ is not a cauchy scquence. Then there exits an $\epsilon > 0$ for which we can find two sequences of positive integer $\{m(k)\}$, $\{n(k)\}$ such that for all positive integer k , $n(k) > m(k) > k$ and $d(x_{m(k)}, x_{n(k)}) \geq \epsilon$. Assuming that $n(k)$ is the smallest such positive integer we get $(n(k) > m(k) > k)$, $d(x_{m(k)}, x_{n(k)}) \geq \epsilon$ and $d(x_{m(k)}, x_{n(k)-1}) < \epsilon$ now,

$$\epsilon \leq d(x_{m(k)}, x_{n(k)}) \leq d(x_{m(k)}, x_{n(k)-1}) + d(x_{n(k)-1}, x_{m(k)})$$

That is

$$\epsilon \leq d(x_{m(k)}, x_{n(k)}) \leq \epsilon + d(x_{n(k)-1}, x_{m(k)})$$

Letting $k \rightarrow \infty$ in the above inequilty and using (11) we have

$$\lim_{k \rightarrow \infty} d(x_{m(k)}, x_{n(k)}) = \epsilon \quad (12)$$

Again,

$$d(x_{m(k)+1}, x_{n(k)+1}) \leq d(x_{m(k)+1}, x_{m(k)}) + d(x_{m(k)}, x_{n(k)}) + d(x_{n(k)}, x_{n(k)+1})$$

Letting $k \rightarrow \infty$ in the above inequality using (11) and (12) we have

$$\lim_{k \rightarrow \infty} d(x_{m(k)+1}, x_{n(k)+1}) = \epsilon \quad (13)$$

As $n(k) > m(k)$ so $d(x_{m(k)}, x_{n(k)}) > d(x_{m(k)+1}, x_{n(k)+1})$.

For $x = x_{n(k)}$, $y = x_{m(k)}$, we have from (4)

$$\begin{aligned} \psi(d(x_{n(k)+1}, x_{m(k)+1})) &\leq \phi(\max[(d(x_{n(k)}, x_{n(k)+1}), (d(x_{m(k)}, x_{m(k)+1}))]) \\ &\quad - \theta(\max[(d(x_{n(k)}, x_{n(k)+1}), (d(x_{m(k)}, x_{m(k)+1}))]) \end{aligned}$$

i.e.

$$\psi(d(x_{n(k)+1}, x_{m(k)+1})) \leq \phi(d(x_{m(k)}, x_{m(k)+1}) - \theta(d(x_{m(k)}, x_{m(k)+1}))$$

Taking limit supremum in both sides of the above inequality, using (11) and the continuity property of ψ and (i_α) property of ϕ, θ we get

$$\psi(\epsilon) \leq \overline{\lim} \phi(d(x_{m(k)}, x_{m(k)+1})) + \overline{\lim} (-\theta(d(x_{m(k)}, x_{m(k)+1})))$$

since

$$\begin{aligned} \overline{\lim} (-\theta(d(x_{m(k)}, x_{m(k)+1}))) &= -\underline{\lim} (\theta(d(x_{m(k)}, x_{m(k)+1})) \\ \psi(\epsilon) &\leq \overline{\lim} \phi(d(x_{m(k)}, x_{m(k)+1})) - \underline{\lim} (\theta(d(x_{m(k)}, x_{m(k)+1})) \end{aligned}$$

i.e.

$$\psi(\epsilon) - \overline{\lim} \phi(d(x_{m(k)}, x_{m(k)+1})) + \underline{\lim} (\theta(d(x_{m(k)}, x_{m(k)+1})) \leq 0$$

Which is a contradiction by (6). Therefore $\{x_n\}$ is a cauchy sequence in X .

From the compactness of X , there exist $p \in X$ such that

$x_n \rightarrow p$ as $n \rightarrow \infty$

Now in (10) We put $y = p$ then we get

$$\psi(d(Tp, x_{n+2})) \leq \phi(d(p, Tp)) - \theta(d(p, Tp))$$

Letting $n \rightarrow \infty$, we get

$$\psi(d(Tp, p)) \leq \phi(d(p, Tp)) - \theta(d(p, Tp))$$

from (5) it follows that $\theta(d(p, Tp)) \leq 0$ which implies that

$$d(p, Tp) \leq 0$$

i.e.

$$Tp = p$$

If there exists another point $q \in X$ such that $Tq = q$. Then using an argument similar to the above we get

$$\begin{aligned} \psi(d(p, q)) &= \psi(d(Tp, Tq)) \leq \phi(\max[d(p, Tp), d(q, Tq)]) \\ &\quad - \theta(\max[d(p, Tp), d(q, Tq)]) \end{aligned}$$

Since both $d(p, Tp) = 0$ and $d(q, Tq) = 0$ we get

$$\psi(d(p, q)) \leq 0$$

i.e.

$$d(p, q) = 0$$

Hence $p = q$. The proof is completed. ■

3. Example

Let $X = [0, 1, 2, 3, \dots\dots\dots)$ and $d(x, y) = |x - y|$. Then (X, d) is a complete metric space.

Let $T : X \rightarrow X$ is given by $Tx = \frac{x}{2}$ and $\psi, \phi, \theta \in [0, \infty) \rightarrow [0, \infty)$ is given by

$$\begin{aligned} \psi(t) &= \frac{t}{2}, \quad \theta(t) = \frac{[t]}{5}, \quad \phi(t) = \frac{[t]}{2} \text{ for all } t \in X \\ &= [t], \text{ otherwise,} \end{aligned}$$

Hence all the condition of theorem 2.1 are satisfied. Here it is seen that 0 is the unique fixed point of T.

References

- [1] R. Kannan, Some results on fixed points, *Bulletin of the Calcutta Mathematical Society*, vol. 60, pp. 71–76, 1968.
- [2] R. Kannan, “Some results on fixed points II,” *The American Mathematical Monthly*, vol. 76, pp. 405–408, 1969.
- [3] B. S. Choudhury and P. Maity, “Coupled fixed point results in generalized metric spaces,” *Mathematical and Computer Modelling*, vol. 54, no. 1–2, pp. 73–79, 2011.
- [4] I.A. Rus, Generalized ϕ -contractions, *Mathematica* 24 (1982) 175–178.
- [5] B. E. Rhoades, A Comparison of Various Definitions of Contractive Mappings, *Trans. Amer. Math. Soc.*, 226(1977), 257–290.
- [6] Doric, D., Common fixed point for generalized (ϕ, ψ) -weak contractions. *Appl. Math. Lett.* 22, 1896–1900 (2009)
- [7] Rhoades, B.E., Some theorems on weakly contractive maps. *Nonlinear Anal. TMA* 47(4), 2683–2693 (2001).
- [8] Eslamian, M., Abkar, A., A fixed point theorems for generalized weakly contractive mappings in complete metric space. *Ital. J. Pure Appl. Math.* (to appear).
- [9] J.H. Mai, X.H. Liu, Fixed points of weakly contractive maps and boundedness of orbits, *Fixed Point Theory and Applications* (2007) Article ID 20962.
- [10] Q. Zhang, Y. Song, Fixed point theory for generalized ϕ -weak contractions, *Applied Mathematics Letters* 22 (2009) 75–78.
- [11] P.N. Dutta, B.S. Choudhury, A generalization of contraction principle in metric spaces, *Fixed Point Theory and Applications* (2008) 8. Article ID 406368.
- [12] A. Azam and M. Arshad, Kannan fixed point theorem on generalized metric spaces, *The J. Nonlinear Sci. Appl.*, 1(2008), no. 1, 45–48.